
ITEM CODE MODIFICATION REF DESCRIPTION PRICE

GAS FRYER

MOD. 65/70 FRG

ED. 01-99MODULAR
LIST OF SPARE PARTS

code  253.027.00

1 672.075.00 Cylindrical torch burner for FRG

2 673.023.00 Nozzle holder for D. 10 pipe

3 673.024.00 Nut for nozzle holder M14x1

4 673.001.00 Biconical element D. 10

5 673.011.00 Nut for biconical element D. 10 M16x1.5

6 675.038.00 Burners valve connecting pipes ass.

7 675.040.00 Gas inlet pipe ass. 65/70 FRG

9 673.006.00 Biconical element D. 12 0957007

10 673.018.00 Fitting for biconical el. D.12 -3/8" 0958025

11 674.070.00 Nozzle D. 145 L

12 661.021.00 EGO 55.10542.814  unip. safety thermostat

14 678.001.00 3/4" gas drain cock with stop

15 673.000.00 Biconical element D. 18

16 673.010.00 3/4" nut for cock D. 18

18 623.024.00 Right lever for cock

19 631.000.00 External drain pipe D. 22

20 683.010.00 Filter for gas fryer bowl

21 683.011.00 Basket for gas fryer

22 611.091.00 Gas fryer lid ass.

23 683.055.00 Baskets support grid ass. FRG

24 623.048.00 Safety thermostat support

25 672.006.00 Piezoelectric lighter

26 666.001.00 500 L ignition lead for piezo lighter

27 623.041.00 Valve support FRG

28 623.002.00 Control panel fixing bracket

29 651.001.00 D.30xH.20 foot

31 622.006.00 70 gas top base

33 611.093.00 Control panel assembly 65/70 FRG

35 611.262.00 Stainless steel upstand ass. 65/70 FRG 13A

37 621.028.00 Size 70 back panel

38 671.018.00 Minisit valve ass. without p. regulator

39 671.006.00 Knob for the Minisit valve

41 672.025.00 M9x1 500 L thermocouple

42 672.026.00 Natural gas pilot burner assembly

42 672.027.00 LPG pilot burner assembly

43 672.042.00 3-way pressed pilot burner 0160032

44 672.028.00 Round spark plug D.4

45 673.014.00 Spark plug fitting

46 673.013.00 Fitting for biconical element D.4

47 673.007.00 Biconical element D.4 (PIL 0160)

49 611.117.00 Top-bowl assembly 65/70 FRG

A



ITEM CODE MODIFICATION REF DESCRIPTION PRICE

GAS FRYER

MOD. 65/70 FRG

ED. 01-99MODULAR
LIST OF SPARE PARTS

code  253.027.00

50 675.034.00 Pilot burner connection FRG

51 611.370.00 Pilot burner support ass. FRG

52 641.012.00 Screw for pressure tap M4

53 674.051.00 Nozzle 0160 (51) natural gas

53 674.052.00 Nozzle 0160 (30) LPG

54 672.020.00 Interrupted fitting assembly M9x1

55 623.049.00 Valve protection FRG

56 623.305.00 Central valve protection FRG

57 666.005.00 900 L cable for safety thermostat

58 666.004.00 550 L cable for safety thermostat

B


